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#!/usr/bin/env python3

iimmppoorrtt mmaatthh
iimmppoorrtt iinnfflluuxxddbb__cclliieenntt
iimmppoorrtt uurrlllliibb..rreeqquueesstt

bucket = "SPX-Data"
org = "BBS2"
token="xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx" 
url="127.0.0.1:8086"

client = influxdb_client.InfluxDBClient(
url=url,
token=token,
org=org

) #initiate client

query_api = client.query_api() #initate read-client

# 1715756400 Unix timeStamp -> 15.05.2024 09:00:00 AM

query_ErzeugungC211= 'from(bucket:"SPX-Data")\
|> range(start: 1715756400)\
|> filter(fn: (r) => r["_measurement"] == "Erzeugung_C211")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

query_ErzeugungC212= 'from(bucket:"SPX-Data")\
|> range(start: 1715756400)\
|> filter(fn: (r) => r["_measurement"] == "Erzeugung_C212")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

query_VerbrauchC211= 'from(bucket:"SPX-Data")\
|> range(start: 1715756400)\
|> filter(fn: (r) => r["_measurement"] == "Verbrauch_C211")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

query_VerbrauchC212= 'from(bucket:"SPX-Data")\
|> range(start: 1715756400)\
|> filter(fn: (r) => r["_measurement"] == "Verbrauch_C212")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

query_Wallbox_1= 'from(bucket:"SPX-Data")\
|> range(start: 1715756400)\
|> filter(fn: (r) => r["_measurement"] == "Wallbox212")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

query_Wallbox_2= 'from(bucket:"SPX-Data")\
|> range(start: 1715756400)\
|> filter(fn: (r) => r["_measurement"] == "Wallbox216")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

query_VerbrauchSolaRadler= 'from(bucket:"SPX-Data")\
|> range(start: -1y)\
|> filter(fn: (r) => r["_measurement"] == "Verbrauch_SolaRadler")\
|> filter(fn: (r) => r["_field"] == "value")\
|> integral(unit: 1h)'

result_ErzeugungC211 = query_api.query(org=org, query=query_ErzeugungC211)
result_ErzeugungC212 = query_api.query(org=org, query=query_ErzeugungC212)
result_VerbrauchC211 = query_api.query(org=org, query=query_VerbrauchC211)
result_VerbrauchC212 = query_api.query(org=org, query=query_VerbrauchC212)
result_VerbrauchWallbox1= query_api.query(org=org, query=query_Wallbox_1)
result_VerbrauchWallbox2= query_api.query(org=org, query=query_Wallbox_2)
result_VerbrauchSolaRadler = query_api.query(org=org, query=query_VerbrauchSolaRadler)
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value_ErzeugungC211 = result_ErzeugungC211[0].records[0].get_value()/1000

value_ErzeugungC212 = result_ErzeugungC212[0].records[0].get_value()/1000

value_VerbrauchC211 = result_VerbrauchC211[0].records[0].get_value()/1000

value_VerbrauchC212 = result_VerbrauchC212[0].records[0].get_value()/1000

value_VerbrauchWallbox1 = result_VerbrauchWallbox1[0].records[0].get_value()/1000

value_VerbrauchWallbox2 = result_VerbrauchWallbox2[0].records[0].get_value()/1000

value_VerbrauchSolaRadler = result_VerbrauchSolaRadler[0].records[0].get_value()/1000

def sendto(value,place):
 text=f"http://127.0.0.1:8087/set/0_userdata.0.Variablen.SPX_data.{place}?value={value}&prettyPrint"
 contents = urllib.request.urlopen(text).read()

sendto(value_ErzeugungC211,'Erzeugung_counter_C211_')
sendto(value_ErzeugungC212,'Erzeugung_counter_C212')
sendto(value_VerbrauchC211,'Verbrauch_counter_C211')
sendto(value_VerbrauchC212,'Verbrauch_counter_C212_')
sendto(value_VerbrauchWallbox1,'Verbrauch_counter_wallbox1')
sendto(value_VerbrauchWallbox2,'Verbrauch_counter_wallbox2')
sendto(value_VerbrauchSolaRadler,'Verbrauch_counter_SolaRadler')


